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juwcrjgé ;ffggis' plesse] SENIOR SCHOOL .. : 1. (a) Fred buysa jar of coffee for £3.16, a tin of biscuits for £5.84 and a chun
: R : FANEI T < : . of cheese for £4.37 : ) o
e What is the total cost? ‘
i L 3 .
| 316
g ’ 5-84 |
D ] | 1 ]
Independent Schools S . L , v\‘3-3 L e N G
Examinaﬁons Board - - ¢ £, ok _ o = Answer: £ ...l . @ U“).‘
COMMON ENTRANCE EXAMINATION AT 13+ ! ' (b) John has 33_10_'15 in his pocket. -~ h Eal
o N . L L e gy L N If he spends £1.89 on sweets, how much will he have left?
i : .
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MATHEmMATICS e e

PAPER 2

-~ Non-Calculator Paper o : - “H5 Aoswer: 2 (2 )
Monday 28 February 2005 3
3 (c) ACD costs £8.95 )
: - ; ) . How much do five of these CDs cost?
Please read this information before the examination starts. ; 48 ’A‘1 2
o » ‘-' Lk .
* This examination is 60 minutes long. o _ . S| _ » : T =3
. A‘l_i questions should be attempted. ‘ ' . ' -
I e A row of aots ......... - denotes a space for your answer, _ . )
| FN complvete_ly' 'corréct answer may receive no marks unless you show all your L ' - e )
working. -~ .- T ) . : !
"+ Answers given as fractions should be reduced to their lowest terms. ) P T
v ) : ' (d) A pack of six DVDs cests £53.94
: i B . o : ’ How much does each DVD cost?
' ' L SR - T
. ) » | 6 LS3ay
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() Ona ;ourney of 150 miles, Emma travels 66 miles before étopping for
a cup of coffee. : . .

IR . (i) 0.94 x 1000 How fgr does Emma still have to travel?

. : , , ' ER A : Yoo, . miles. (i
. (i) 716 + 1000 L R ’ -

- (ii) What psrcentage of the journey does she still have to complete?

'~ Adswer: ... (1) . '(j_'ri 1\5'0)' ET el x‘t,é’é £S6.

(ii) 2000 x 350 . o o o BEREE T R

35x2370 v g v - L e
—.TDX\OOQDZ 'TOOIOQO . . ) e ) I ) ) )

~ (iv) 480 = 20

Wllham eals 18% of the stick of rock

What length of the stick of rock does
: William eat? .

L3g =2y R ‘ [: R (b) A stick of rock at the seaside is 30 cenhmetres long
|

ANSWET: oo 2

(b) Expresa 054 metres in centlmetres . o R = ) . L
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. D " A . v wr ot Ly =218
" (c) Expr'es'smsdgrar_ns._in kilograms. - o R ‘ S 30k 0h\E 2 PR X3t Sy

@f)’ - ' | | ’ @:‘
kg (1) . R : - : i ’ . Answer: Slt ................ .cmo )
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< . N 5. i _prod i ) ing indices.
- 4. Heniietta sleeps for 3 § of each 24-hoyr day and spends 1 heur eatlng meals ' _ (i) Expressv 300 as the producr of prime fact»o_rs using in rce :
. : ' _ 1[300 .
(1) (a) How rnany hours does Hennetta spend either sleeplng or eating? o . . i i ' R IRY)
3 ' Il EEYIREE o Lk e
S\eepa t T3 11,»4 qLoqu SsAETT T e
50 | 3 AN s |
SR ; o g Y
: CEal v \L\\)\-’r . glu B . X A 3 . ) . -2 - Ql) !
il : o BT s . L Answer: . ?.-.....E.}.XS - @7
10 haer RN N ,@'l)' : S " o _ .
Answer: ... \O ..... wh (1) '(5,') Taking /3 =1.73 and your answer to part. (r) or otherwrse find /300
' s s . ‘ SRR . . B A " correct tr:) 3 significant flgures o o 300 3 =100
(b) What-fraction, of. each day remains? . W . o . A' C SR 100 12 E XS_ : r—". =10
B G e - . . i ' . . . i : .\111 ﬁxs ' . \.73 rlo -
Woug rgmeuny & 24 —10 =14 A E S _ e pu— » e L ERS ¢
o ’ T \Ll':_—7 r . & R : ' i * ) . 'S ?—X 3 "s - by o Q\
P 2y N . B AP T R = LTINS ' e P .(;\
P ) Lo . : ’ : ) " S = lox 13 Answer ......... A (2 »
‘ SE 133 T
T e - . - ) } ‘ 6. (a) Apacket of 35 sweets is shared between Tim and Lucy in the ratio Of 3:4
During the school term, lessons take u 2 of t o 1 AL
nerthe% sleepmg nor eating, | p . Of he hours when Hennetta is o | (i) How many sweets does Lucy recelve"
T L s
(u) How many hours each day are spent in «lessons? . ) L . ) : q ,_* . |
i R o o : - s (o \x: _,\.‘1_5..;_. 5 i
OL*““ ] BRI L Bous - a s o 35 o |
: o Answer: ... S, ho ()@ S : : ' N . » '
' i Tim eats 3 of hlS sweets and Lucy eats 5 of her sweets _
—- ‘of the lesson time is spent on mathemancs I (u What is the ratio of Tim's sweets : Lucys sweets now" )
(i) What fraction of each day is spent on mathemahcs'7 ’ ! - Tima15-3 —T-?l
metssi Lves [ghean A 1E aa iy N oG
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Mr Elder treats a rectangular patn of length 12 m.

LT IS IR ' TN I

(b)- Every 80 grams of weedkr!ler powder are mixed with 9 litres of water

This mnxture will treat an area of 4 square ‘metres of ground

(|) What area of ground can be treated with the mixture containing'

. 4 kilograms of weedkiller powder?

L ilom ey = _L\.oo'o:
. oso ¥k0 = 50

%Oarun.\ trwk—_r L m2
Ly \(\\03r\=- bresks Ly XS0 = ‘looM

Answer: ....... e Lol e N m?

Dansy treats a rectangular area of ground measunng 6 m: by 8 m.

()~

(u) What volurne of water wull she need to mix with the correct amount of

~weedkiller powder? —~— 8.m—— -

3Mx€m L 8m™

,H?-,—L\.—_\l : . 6m

- Answer: ..

He uses '360 grams of weedkiller powder with tne correct amount of water

(m) How wvde is the path'7
36 o«g, stoq= hede

Ly4i= 1Tm™
1B = {hm L e e

Answer: ...........
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% (a) 'Write down expressions for

(i) the sum of the square of xand the cube of y

Answer: .... QC*‘:\Q" L0

(ii) twice the product of mandn

. Answer: ...\,

- (iii) the square root of the sum of p and q.

3(2n —1)= (5-n)
Gn-3-5S4n
= T1a-%® )

(c) Factorise completely
6a® + dab

'1«[&\{19

O A AAnrFrA~A

Answer: ...

(b) Multlply out the brackets and snmphfy

Answer: ...... —7’\‘ 3 ' @
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8. (a). Solve he following equations:
o 2p=3
hef 2=

lo=342p
& T
S

(i) 18=6(g+1) L SRR
N Gt L T
6) ¥

V1= 6
%6) G = ;\-/

' Answer: p= 3';; ................ s :(2_:) -

Answer q—. 2 .- @

Answer: r =

(|v) (s+1)—3(1—s)‘
bs+§— 3-13s

G

(

%s*: 3 N ‘ T r:.‘:l‘ {nr'
%) T - I S:x—s]l.

—-J
4

Answer s =

(b) (i) Solve the inequality

Turn over

Tobt\ Pese -

) : v
ANSWer: .......... {Z 4.1 s (2)(2:)'

-

. B Ve . LT
| ‘ i e : . « [pmint?

9. The volume of a test tube is calculated using the formula

V=%7rr3+zrr2h
‘ ()If z=3 r=3 Cand h=30 calculate
: . (a) ar? . o
3§3x3x3
k “3\ : -
. - 'Answer ................... N AR
(b) rh
3%3%30
= 430
= 1‘[0".
Alnswer: .
OV yeagesman
(1 Xﬂf\> QTICQ ' :r
Ve Syt Bl -
v = . 86y S 3 _ Q\) l";-:'
ANSWEN: ...ovviviorror B e ) ‘“)1 2

(i) f x=3: r=2 and V=160 find the value Af .h.'it..
: V= _’; Ted gk
\60 @x}xlxlxl)+c3xlxlxk)
o leo= 6 4 W2k |
T . Ry
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10.

|'2000

: ch blcoow
(o0
W lb L0m

Answer:

6 tm

L. 120 metres by 80 metres. o, 1o
| o Iyt

%0 320

- 6Gm

kom

qe e T - L Greauy

ANSWER: L.,

- (lV) Calculate lhe area ol the field in square metres

o . 120 x%o0
Yog
i ‘ - " Answer:
© SA 2005926 W

() Ona scale ol s 2000 how many metres are: repr=sented by 1 centxmetre’?

-(ii) Using a scale of 1:2000, draw the outline of a rectangular field measunng

(D) Calculate the péri_mele_r of the rectaagle which you have drawn,

(2

 Turn over
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(i) On the 1 om square gnd above, plol and iabel the followmg po:nts
Al 1) B(-1,2) C(1“3) L '. '/C
. ' hll)
Join the points. : .o (@
(i) Calculate the area of the triangle ABC. PR . .
' © odxsx3
‘ =71 . L
ANSWEI: v I om? (2)
(lu) Mark the point Dso that the quadrilateral ABCD is a parallelogram : (1)~
(iv) Give the COo- ordlnales of the point D (A‘.g for
C : dkow AL \'fw
2 - _ Lorrety co—on
Answer: D (..., .74 N e
) ~ .0
(v) Write down the- ratio of the aréa ‘of t nange ABC to the area of the
priallelogram ABCD,
M\e-&{uﬂ\c\a%: bxku . \5 ,71 w  tE .
=15 Answer: ......... \. ............. 2o, (1)
S.A. 283522 12 Talal
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12, 10°child h record thei heigh d th kil 9 - y
children each record thei height in metres an exrmas n kilpgrams. : T
/ J/ \7 / 7I N i 7
(1,30 1.44]1.45 1.52]1 34[1 281. 49[1 40[1.42[1.55 Lo :
34|42 47|50 | 353248 43 [ 40 52] (AfJ)
) Plot these values on the graph below. The first 4 have been plotted for. you. @ i ) N c ™
W ) lll;llll ' ‘I'!l I ,l I}lll 1T I T ) . : § 4‘
A R o INN) |'| I '. HHH f T ’
55 oA s 3
e I H ” : e
o HH gl
T T T T . %
EREEmaNEEEIREEINSZEEEEm : H § “ A
[N I NN NENN) 1T I .
1T 1 Il T I I ‘
50 I ERREEN 7 1 ]
. g 7 6 5 4 3 2 10 5.3 4 .5 7 X
‘ : . R ' ot
45 . ‘ . ‘ ' 1 D
. mass in G P ) ; .
kg : I N H . ) l / >
40 . H : a T : : -3
[l | ; ] = 3
T T 1 I
I T . 4 s
! | : : ' , _ 8| -
. o4 T , . -
35 | ;I~ - B | ] . . - D
; n : : -
I ' Sl )
; . "6 - :
. 305 i 7 — SN
NN 1 " i . - : : - e : ,>\ @l)
Sea VA i : - ) . (i) Onthe grid above, draw and label the liney=-x " - i a2y
'y 0 125 130 135 140 145 150 - 155 . . i ‘ A, :
height in m ' : (i) Reflect triangle Ain the line y = "x R /
- (i) Do the results indicate a positive or a negative correlation? @._,) S Label the image triangle B. v . . ﬁ‘.l({or
' ANSWET: oo Posiive ('1) ' ‘ (m) Rotate triangie A through 90° antlclO(:lese about the origin. - / _ abuxO)o)
' Label the image triangle C. , BRI - (2)
w L : ' s SR S ~ N (e STV R
(i) What is the- meaning of the correlation of these resuits? ' () ) A (v Descnbe fully the transformatlon whnch maps
Answer: M‘\SS\AU?H}U\A\(“‘*@\QCOFS"“‘\"’) ........ Mm - - B el Bontae _ _ ' P ﬁ\‘) ‘
o : e @u) T e Heam dobe mera. JBz0. 0 :
(iv) On the graph, dr'aw the line ofbestfit. .- "t PR () IR |l : ' . : - '
‘ ' ) : . ‘ ' . St o p e P .
(v) gse your graph to estimate the height of a ch|lu of mass 38 kllograms 2;{ }:{“ |+ I e i (b) Aonto D, | |
how clearly where you take our readin " e T :
’ ! . y . : “%ﬁ.‘;ﬂ?w o Answer; TFNL‘K%\M ...... T30 0me s \th ..... oseneens O]
v ANSWer: o )26 m (2 e I N\Q\ru_ dm.m .  eh
I o : . CRMO»J N e ol - S.A.-2835226 - 14 .
", S.A. 2835226 ‘ . ; 13 . Turn over St




14, | have forgo'tten» my 4- digit PIN number _
» However I can remember the followmg facts
e the first and last drglts add up to 10" B
-« the first digit i is greater than the last dlglt
- thefourdlgrts add upt016 e T S
* the drtference between the last two dlgrts is 2

(l) Make a hst of the 7 possuble 4- dlgrt numbers whrch frt the facts above

‘.Answer‘. 6.0 Gl}

...... Gq'lq' £
..... A W= - S |
S 3 TR
g a4 N He ;_{‘,,'\“-r
S A— C g
C‘ ..... 33\ ______ SOOI C 4) e);f;f{-erw_ v
lpicka number at'random frommylist. - e AR CA'\{mr sek
. o R o ' : o}»m.w:)
(u) What is the probabrhty that the 4- drgxt number has two drglts the same7 ' )
Awswer IR SRRV weenee (1),

- (iii) What is the probability that it is the correct PIN number? R

It is not Correct | pick a drfferent 4 drgrt number at random from my hst T ?‘1'-

(lv) What is the probabrhty that thrs also re not correct'7

Answer —E (1)
(lotal marks: 100). g
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